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2017 Apr. New Cisco 200-155 Exam Dumps with PDF and V CE Free Released Today! 1.|2017 New Version 200-155 Exam
Dumps (PDF & VCE) 75Q& As Download: http://www.braindump2go.com/200-155.html  2.]2017 New Version 200-155 Exam
Questions & Answers Download: https://drive.google.com/drive/folders/OB75b5xY Lj SSNSGNZNWIETXdSNHM 2usp=sharing
QUESTION 1Which term in Cisco Unified Computing System is subject to finite state machine validation? A. SNMP getB.
server bootC. firmware downloadsD. server discovery Answer: D QUESTION 2What is the purpose of Fibre Channel over
Ethernet? A. FCoE maps native Fibre Channel onto Layer 2 Ethernet, Converging |P and storage networks.B. FCoE
encapsulates native Fiber Channel traffic inside GRE tunnels.C. Data Center Bridging uses FCOE to transport | P traffic over native
Fiber Channel.D. FCoE encapsulates native Fiber Channel inside IP packets. Answer: A QUESTION 3Which two options are
advantages of a spine and leaf architecture? (Choosetwo ) A. robust multipathingB. traffic that is optimized for east-west
communicationC. star topologyD. traffic that is optimized for north-south communicationE.  exponential scalability Answer:
CE QUESTION 4Which two Cisco Nexus 1000V Series Switch features exceed the functionality of the VWware vNetwork
Distributed Switch? (Choosetwo ) A. access control listsB. QoS markingC. Network vMotionD. port state migrationE. DV
Port Groups Answer: AB QUESTION 5Which two are benefits of Cisco Unified Fabric? (Choosetwo) A.  SNMPv3 strong
authenticationB. reduced cablingC. zone port distributionD. consolidation of LAN and SAN over a common transportE.
native AES-256 encryption of datain flight Answer: BD QUESTION 6Refer to the exhibit. Which statement is correct regarding
this vPC environment? A. The vPC peer keep alive uses anon-VRF path.B. ip arp synchronize is automatically configured
when avPC domain iscreated.C. Therote priority usesits default value.D. The system priority has been configured to alower
number than its default value. Answer: B QUESTION 8A network engineer is configuring a pair of 6248 Fabric Interconnects, each
with dual 10G uplinks to a parent switch. One design retirement is to ensure a specific server is able to use 10G of throughput to the
LAN without contention from other servers within the 5108 chassis. Which technology will accomplish this? A.  Port-ChannelsB.
Unified PortsC. LAN Pin GroupsD. System QoS Policy Answer: C ''RECOMMEND!!! 1.]2017 New Version 200-155 Exam
Dumps (PDF & VCE) 75Q& As Download: http://www.braindump2go.com/200-155.html  2.|2017 New Version 200-155 Study
Guide Video: YouTube Video: Y ouTube.com/watch?v=i61dvAL6Y VO
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